


Parts List for GFN1564K Type 0

Item�Number Part�Number Description Qty�Required

1 9R192230 FILTER�COVER 1

2 9R192231 FILTER�MESH 1

3 9R192232 HEX.�SOCKET�HD.�BOLT 1

4 9R192353 TOP�COVER 1

5 9R192110 SPARK�PLUG�(A) 1

6 9R192235 BOLT�M�4X12 1

7 9R192236 CYLINDER�HEAD 1

8 9R192237 NUT�M3 2

9 9R192238 SPRING�WASHER�M3 2

10 9R192239 WASHER�M3 2

11 9R192240 FAN 1

12 9R192241 RUBBER�PLATE 1

13 9R192242 HEX.�SOCKET�HD.�BOLT 1

14 9R192243 CHAMBER�HEAD 1

15 9R192244 GASKET 1

16 9R192245 CHAMBER 1

17 9R192246 PISTON�RING�(B) 4

18 9R192247 RETAINING�RING�FOR�D 1

19 9R192248 PACKING 1

20 9R192127 ADAPTER 1

21 000000-00 No�Longer�Available 1

22 9R192251 SHAFT�RUBBER�WASHER 1

23 9R192252 SHAFT�COVER 1

24 9R192253 HEX.�SHOULDER�BOLT�M 1

25 9R192254 MOTOR�ASS'Y 1

26 9R192255 PISTON�RING�(A) 2

27 9R192367 PISTON 1

Page�1

COPYRIGHT©�2005.�All�Rights�Reserved.
Parts�list,�pricing,�and�availability�subject�to�change.��Please�visit�www.dewaltservicenet.com�for�current�parts�information.



Parts List for GFN1564K Type 0

Item�Number Part�Number Description Qty�Required

28 9R192257 PISTON�BUMPER 1

30 9R192259 HOUSING 1

31 9R192369 PIN-GUIDE 1

32 9R192261 ROLL�PIN�D3X16 2

33 9R192370 GUIDE-BLADE 1

34 9R192262 SEAL�LOCK�HEX.�SOCKE 1

35 9R192371 LOCK�LEVER�COVER 1

36 9R192264 ROLL�PIN�D3X10 1

37 9R192372 LOCK�LEVER 1

38 9R192373 GUIDE�PLATE 1

39 9R192267 TAPPING�SCREW�(W/FLA 2

40 9R192357 HANDLE�(B) 1

41 9R192269 HEX.�SHOULDER�BOLT�M 1

42 9R192374 CYLINDER 1

43 9R192270 CHAMBER�STOP�RUBBER 1

44 9R192189 NYLON�NUT�M5 2

45 9R192359 PROTECTOR(A) 1

46 9R192171 TAPPING�SCREW�(W/FLA 1

47 9R192274 SEAL�LOCK�HEX.�SOCKE 1

48 9R192150 BELLEVILLE�SPRING�M4 1

49 9R192276 BUFFER�COVER 1

50 9R192277 MUFFLER 1

51 9R192278 REED�VALVE 1

52 9R192279 BUFFER�PLATE 1

53 9R192280 O-RING 1

54 9R192281 MESH 1

55 9R192282 CELL�PIN 1

Page�2

COPYRIGHT©�2005.�All�Rights�Reserved.
Parts�list,�pricing,�and�availability�subject�to�change.��Please�visit�www.dewaltservicenet.com�for�current�parts�information.



Parts List for GFN1564K Type 0

Item�Number Part�Number Description Qty�Required

56 9R192283 PIPE�RUBBER 1

57 9R192284 ACTUATOR 1

58 000000-00 No�Longer�Available 1

59 9R192286 SUPPORT�(B) 1

60 9R192287 INTERNAL�WIRE�(A) 1

61 9R192116 WASHER�M4 1

62 9R192289 MACHINE�SCREW�M4X10 1

63 9R192290 LOCK�NUT�M4�(BLACK) 1

65 9R192358 HANDLE�(A) 1

66 9R192292 TERMINAL�SUPPORT 2

67 9R192293 TRIGGER�SPRING 1

68 9R192294 TRIGGER 1

69 9R192295 PIN�D3X20 1

70 9R192296 CORD�COVER�PLATE 1

71 9R192297 CHAMBER�SPRING 1

72 9R192298 TRIGGER�STOPPER�ASS' 1

73 9R192299 SEAL�LOCK�HEX.�SOCKE 1

74 9R192300 PUSHING�LEVER�ARM 1

75 9R192301 PUSHING�LEVER�PIECE 1

76 9R192302 O-RING�(S-8) 1

77 9R192375 ADJUSTER 1

78 9R192304 RATCHET�SPRING 1

79 9R192376 PUSH�LEVER(A) 1

82 9R192352 SHAFT�WASHER 1

83 9R192377 MAGAZINE�COVER 1

84 000000-00 No�Longer�Available 1

85 9R192311 MACHINE�SCREW�M5X15 1

Page�3

COPYRIGHT©�2005.�All�Rights�Reserved.
Parts�list,�pricing,�and�availability�subject�to�change.��Please�visit�www.dewaltservicenet.com�for�current�parts�information.



Parts List for GFN1564K Type 0

Item�Number Part�Number Description Qty�Required

86 9R192312 HOOK 1

87 9R192313 WASHER 1

88 9R192314 TRUSS�HD.�SCREW�M4X2 1

89 9R192261 ROLL�PIN�D3X16 1

90 9R192316 RIBBON�SPRING 1

91 9R192363 NAIL�FEEDER�(B) 1

92 9R192378 NAIL�FEEDER�(A) 1

93 9R192319 STOPPER�SPRING�(C) 1

94 9R192320 ROLL�PIN�D2.5X26 1

95 9R192321 PRISM 1

96 9R192322 CONTROLLER 1

97 9R192323 TAPPING�SCREW�(W/FLA 1

98 9R192390 NAIL�RAIL 1

99 9R192391 MAGAZINE 1

100 9R192379 PUSH�STOPPER 1

101 9R192380 PUSH�STOPPER�SPRING 1

102 9R192381 PUSH�STOPPER�COVER 1

103 9R192382 TAPPING�SCREW��D3x10 1

104 9R192383 CYLINDER�ASS'Y 1

105 9R192331 O-RING�(S-12) 1

106 9R192330 CYLINDER�HEAD�ASS'Y 1

501 000000-00 No�Longer�Available 1

505 9R192333 NOSE�CAP�(A) 1

506 9R192365 CASE-TOOL 1

507 9R192226 LUBRICANT�OILER�(A) 1

856 166038 HEX�WRENCH�(4MM) 1

856 000000-00 No�Longer�Available 1

Page�4

COPYRIGHT©�2005.�All�Rights�Reserved.
Parts�list,�pricing,�and�availability�subject�to�change.��Please�visit�www.dewaltservicenet.com�for�current�parts�information.



Parts List for GFN1564K Type 0

Item�Number Part�Number Description Qty�Required

856 9R189721 VALVE�FINISH�FUEL 1

856 106167 HEX�WRENCH�(3MM) 1

COPYRIGHT©�2005.�All�Rights�Reserved.
Parts�list,�pricing,�and�availability�subject�to�change.��Please�visit�www.dewaltservicenet.com�for�current�parts�information.

Page�5




